&% Odisha Sub-ordinate Staff 0SSSC EXAMINATION

o B Selection Commission
(OSSSC), Govt. of Odisha CANDIDATE RESPONSE SHEET FOR THE POST OF LI,FORESTOR, FOREST GUARD

‘'our Responses Grievance About Question View Grievance Questions Admin loggedin.[ Logout ]

Roll No. : 1066001425
Candidate Name : MUNABABU CHOUDHURY
Exam Name : | Livestock Inspector,Forester and Forest Guard \/
Test Date © 24 Apr 2024
Test Time : 04:00 PM
: GAJAPATI-02
(SHREE VENKATESWARA SWAMY INFOTECH ONLINE EXAM CENTER
Centre AT/PO- ISR KALYANA MANDAL, NEAR JAYA HALL, WARD NUMBER-05, MAIN ROAD, PARLAKHEMUNDI, GAJAPATI,
ODISHA,INDIA
Pin Code:761200)
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Section - | (English)

Q.No: 1 | Identify the sentence in simple past tense.
He eats sandwich every day.

He will eat a sandwich tomorrow.

He ate a sandwich for lunch.

Q.No: 2 | Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in the paragraph:
Technology and its Impact

Technology has become an integral part of our daily lives, shaping the way we work, communicate, and access information. With the rapid advancement of digital
technologies, the world has witnessed a paradigm shift in various sectors. From healthcare to education, technology has played a pivotal role in transforming
traditional practices. While it brings convenience and efficiency, there are concerns about its impact on privacy and the need for ethical considerations in its
development.

How has technology impacted various sectors?

Negatively

Indifferently
Unpredictably

Q.No: 3  Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in the paragraph:
Technology and its Impact

Technology has become an integral part of our daily lives, shaping the way we work, communicate, and access information. With the rapid advancement of digital
technologies, the world has witnessed a paradigm shift in various sectors. From healthcare to education, technology has played a pivotal role in transforming
traditional practices. While it brings convenience and efficiency, there are concerns about its impact on privacy and the need for ethical considerations in its
development.

What phrase describes the speed of technological advancement?

Gradual improvement

Consistent decline

Traditional practices

Q.No: 4 | Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in the paragraph:
Technology and its Impact
Technology has become an integral part of our daily lives, shaping the way we work, communicate, and access information. With the rapid advancement of digital

technologies, the world has witnessed a paradigm shift in various sectors. From healthcare to education, technology has played a pivotal role in transforming
traditional practices. While it brings convenience and efficiency, there are concerns about its impact on privacy and the need for ethical considerations in its
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development.

What is a concern associated with technology mentioned in the paragraph?
Lack of advancement

Impact on health

Positive transformation

Q.No: 5 Select the appropriate option that represents the synonym of the given word:

Generic
Universal
Definite

Precise

Q.No: 6 What does the term "plentiful” mean?
Limited

Scarce

Less

Q.No: 7 | Choose the correct part of speech for the underlined word for the given sentence.
The painting displayed vibrant colors and intricate details.

Adverb

Adjective

Noun

Q.No: 8 What is the singular form of "sheep"?
sheeps

shoop

sheep

Q.No: 9 Choose the correct article in English grammar, that completes the sentence:
Can you pass me _pen?

an

No Article Required

Q.No: 10 Choose the correct part of speech for the underlined word for the given sentence.
The students are studying for the exam.

Verb

Noun

Adverb

Q.No: 11 What does the idiom "break the ice" mean?
Finish a task quickly
Break a glass

Start a conversation in a social setting

Q.No: 12 Choose the correct option that completes the sentence logically and grammatically:
My sister and | enjoy watching movies, but prefer comedies.

she



hers

ourselves

Q.No: 13 Choose the correct passive form:

"The teacher will teach the lesson."
The lesson will teach by the teacher.
The lesson is taught by the teacher.

The lesson will be taught by the teacher.

Q.No: 14 Choose the correct term for "A place where animals are kept for public exhibition."
Aquarium
Sanctuary

Reserve

Q.No: 15 Choose the correct punctuation for the following sentence:

"Does the train arrive at 5 pm"
Period (.)
Colon (3)

Question mark (?)

Q.No: 16 The sentence "The news is reported by the media" can be rewritten in active voice as:
The media are reported by the news.

The media reports the news.

The news is being reported by the media.

Q.No: 17 Choose the correct part of speech for the underlined word in the sentence.
He walked quickly to catch the bus.

Pronoun

Adverb
Verb

Q.No: 18 Choose the correct option that completes the sentence logically and grammatically:
The teacher asked us our homework on time.

did
do
doing

Q.No: 19 Choose the correct past tense of "go":

go
gone

going

Q.No: 20 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
They will come on time, __?

do they
will they

does they



Q.No: 21 Select the word that means "extremely happy":
Melancholic
Gloomy

Somber

Q.No: 22 Choose the option that best represents the antonym of the underlined word in the sentence.
The scientist conducted a painstaking experiment to prove her theory.

challenging

difficult

laborious

Q.No: 23 Choose the synonym for "Debilitate":

Weaken
Fortify

Invigorate

Q.No: 24 Fillin the blank with the correctly spelled word:

They played a joke to him.
Embarass
Embarras
Embarrass

Q.No: 25 Arrange the following jumbled sentence into a coherent order:
A. Working
B. For
C.He
D. Enjoys
E. Hours
F. Several

C-D-B-F-E-A

C-D-A-B-F-E
A-B-F-E-C-D
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Section - lll (Arithmetic),
Q.No: 51 what percentage of 80 is 20? 80 Q e@ee gﬁ@‘g‘@ 20 gee' ?

22% 22%



23% 23%
24% 24%

Q.No: 52 The average of eleven

:mggﬁgzzv}gégg;z? IRI9E LBIgERA QIUGIR 112, AT g6S4R 2°6Ul 4 IR Ta8 g9, 686% R SIILIR 69687

what is the new average?

308 308
1232 1232
28 28
QNoi 53 ooy AARFRE F0G :
2-32=4) + 3+2= 2-3(2-4)+3:2=
-7.5 -7.5
9.5 9.5
s
0.5 0.5
Q.No: 54 L. ) . . — — — —
If the principal amount is Rs.8000, the annual interest rate is 5%, and the (5[] ';l@ delEl Rs. 8000, 19e %_U @2y 5%, e° Qe %l_d
interest is compounded annually, how much will the investment be worth after 0 % s
4 years? SYTT FWAEA FEE , 4 T 6T FRELIGIA ¢JRY 6REE 687
Rs. 9524.05 Rs. 9524.05
Rs. 9724.05 Rs. 9724.05
Rs. 9424.05 Rs. 9424.05
Q.No: 55

G681 QUL 15 SERISE GEiEIs @ERIGIe Sl 75 eFIER @8l gig
1300 6160 95 @6 | 86 @6l AIo 9596 6667 (AIgAIRR)

A merchant buys 15 kgs of sunflower for Rs.75 per kg and sold it for
Rs.1300. What is the loss or profit percentage made?(Approximate)

15.96% Loss 1596% m4
15.96% Profit 15.96% g@q

S e
15.56% Profit 1556 % gde

Q.No: 56 | If the cost price of an article is Rs.25 and the selling price is Rs.8, what is
the loss percentage?

ook al=lalal gml gy 25 &1 19 R fRy 8 0%, 6669 96 Uit 69867

54% 54%
—

66% 66%

68% 65%

QNO: 57" Wwhat is the Least Common Multiple (LCM) of 20 and 25? 20 96" 25 0 GEd lnsl %@Q@ (LCM) 6@eo?
100 100

50 50

150 150

Q.No: 58 In a class Out of 50 students, 30% are good at Math. What is the number e Gglales 50 Wel GIes fiig 30% CIEGER G | GIEIGEE AR agalle e
of students who are good at Math? GOEE7

18 18
23 23



20 20

e

Q.No: 59 = <
My brother is twice my age. After 2 years he would be 5 years older to 6ell Wi 671l @Elde YRqld I 2 @8 J6Q 64 &7l Olgl 5 @Y 9F 696w |
me. What is my present age? 6610 REFIRE @Ld 60667

8 years 8 od

|

5 years 5 a6

10 years 10 o

Q.No: 60

A shopkeeper bought 72 Spanner at Rs.500 per dozen and 96 w68l eQI@Iat 72 B Rs. 500 @wG6a 99”96 % glafa go ewa Rs 800
Screwdriver at Rs. 800 per dozen. Then sells Spanner at 20% owlen @P@‘E@ | olaral a@ oo 20% RIGSa 9e° %@l@@@l ﬂ@ 0e0e0 30%

profit per dozen and Screwdriver at 30% loss per dozen. What is

the combined selling price of both? E@e@ @@ [(aTaia} 1 RRELD ﬁﬁ@ @@ﬂ q\ﬁq_l [ Taag
Rs.8180 Rs.8180
Rs.8240 Rs.8240
Rs.8080 Rs.8080

Q.No: 61 Deepa is thrice as old as Divya. Four years ago her age was two times Divya's @@LFIC;OEQ Qell QRleR! ﬁ*@q_@ SRl Q@ Q.Gé GBI @ad Qi
age. Find their present ages. QAde 9R g8l SRl 6AFIER GEFIGN 9O 666 |

Deepa is 11 and Divya is 5 QIS @Rd 11 g° Yulie Q)ld 5

Deepa is 9 and Divya is 3 el 9ad 9 9e° Gollar 9gd 3

Deepa is 10 and Divya is 2 Qelle SEE 10 90 GeUlE aad 2

Q.No: 62 If a runner completes a race of 10 kilometers in 2 hours, what is their average Q8 w64l ohe 10 elalio e Qf_a Eﬁﬂ@& 2 BIREGE 97lId @E%, 606 Blwtl

o regERe
speed? Qiglgicl gk 66R7
20 kmph 20 kmph
30 kmph 30 kmph
15 kmph 15 kmph
Q.No: 63

If the Simpl_e Interest for 5 years is_ Rs. 3000 at _8% rate of interest. Find the E{@ 8% ﬁu FIFEA 5 @tg Glg"{ z\alty %,U 3000 C'wl egml |
compound interest for the same time : (Approximate) Qe Sois ﬂliﬁ Qﬁi@ 2l06n %_EJ ceee (alﬁﬁi@@)

Rs.3419.96 Rs.3419.96

Rs.3319.96 Rs.3319.96

Rs.3519.96 Rs.3519.96
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ANOTES o mplify - AORIGNE KOG :
10-2x(3+1) = 10-2x(3+1)=
s
2 2
4 4
32 32
Q.No: 66 = = A 5
A bag_ contains 5 b!e_ack baII_s,ijhi_te balls and 2 green balls. If you draw a ball, e QHIGIEE 5 € @ @Q\’ 3G uwl QH\‘ et 29 g%:@ Qﬁ 2 I
whatis the probability that it is white? AT G671 9@ O/ QLR @, 92 G IR CLQ AR 6REE?
3/10 3/10
1/3 1/3
2/5 2/5
QNo:67 \yhat is the Highest Common Factor (HCF) of 24, 36 and 48? 24, 36 ~99° 48 Q 95E AN QIR (HCF) 626572
6 6
9 9
4 4
Q.No: 68 —— < o P £
Karan completes _1/15 part of a certain job in 1 day. In how many, he will @Rel @ PV QIiQ 1/15 & @(ﬁ 1 egea Ag Q9% |
complete the full job. 660 3960, 69 2l QI AaIg @R6T |
40 days 40 &9
12 days 12 @
. E=
11 days 11 G
Q.No: 69

If you randomly choose a month of the year, what is the probability that it is <@ ZIE] ZRav1e QIFeQ Te e A9 9183,
November? EEET QER]C Clid 69910 dEIP] 6m657

11/12 11/12
0 0
5/6 5/6
Q.No: 70 A, 40 G660 99 @Iy 2919 @RTI6R, ¥e° B A9 QIdg 60 G960
A can complete a task in 40 days, and B can complete the same task in 60 o = s c
days. How ’I)ong will they take tggether to finish mp Gl‘ﬂ_@ eoaeal @il 98 Qidy 699 QTR Qb SAFIER 666 G0 ARE
ER6Q7
28 days 23 5o
14 days 14 §q
24 days 24 G
was
QN7 g IORGOE K9G
2 4
A= 2 4
3 3 ==

3 3
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Q.No: 72| A car travels at a speed of 50km/h for the first 3 hours, then at a speed | 1@ GQI6! €@2I6l 3 941 QIT 50 SERIFISE / G 6666, BIUsE Qo@el 2 €4l g
of 60km/h for the next 2 hours. What is the total distance travelled by

the car? 60 @EQITITE 6REIEE UIG] @68 | @9 Fiol D8] @22Ql AFRIE 9Bl 62867
250km 250 @&
I - - -
270km 2703481
300km 300& 4

Q.No: 73 ' A coffee making requires 2
cups of milk and 2 spoons of

coffes powder Whatis the | IR @ GAITEH 2 A V1R 99° 2 SIFS QP ARSA ALHIR | T QD AULIS 4 F& 98 g,
ratio of milk to coffee powder | gaca GFF AIAGE IEE VAR 2GS 6@667

if both the ingredients are
increased by 4 times?

1:2 1:2
8:2 8:2
8:8 8:8

QNo: 74 In a box, the ratio of Cushions to Pillow covers is 5:3. If there are 56 items in e QIFES), Felatl deal @90 9596 ALl 5: 3 | Qe Gej@le 56 g

total, how many Cushions are there? E“‘agﬂ EIQ, CE0IG0 6mEm %é]';" bl
s
30 30
35 35
27 27
Q.No: 75 The

average

of eight

numbers

is 42. If

three

numbers

arede® 206 YR LINLIR 6LRS 42. AT F6RIT Q%I 58, 42 4Q° 76, 686S ALY AIF L°GUIR FINLIT 69667

what is

the

average

of the

remaining

five

numbers?
20 20
32 32
42 42

Section - IV (General Knowledge)

.No: 76 SO
aNo Who among the following was the first European to come to India through Sea GEmMYENIRGE (LR & Ay D8 59 WGty EIPQEQ@I dele
route? QECITa Sem?

Niccolao Manucci Fexmie dgg



Marco Polo clleml saleml

Sir Thomas Roe dial s2liclid 66l

Q.No: 77 which among the following is the highest peak of Odisha? HoRge aug oG BP0 264le Ja Beg?
Malaygiri Clieadd

Chandragiri ajamin)
. A

Deomali (S elalla]

QN0 78 \ho among the following is the recipient of the Jnanpith award? GUnge frig G Qadl BIROIO 9ol gig Bca?
Umashankar Joshi ErllElaar 65

Rabindranath Tagore Sl QGG

Ashapoorna Devi ﬂ-@lq@l 69a1

Q:No:79 who were the first Europeans to enter in Odisha? BRAIER Q6L 606 YIRS U699 GRaER?
Portuguese ﬂ@r{aﬁﬁ‘
e e

Danish Qlad

English i vyl

QNo: 80 Guru Nanak, the founder of Sikhism, was contemporary of which of the aa udia QC‘QIG‘I Ja fae mﬂe 6&% 6Lt Gllllar

following Mughal kings? CRIG QAR R 7

Aurangzeb Gioereee
e e

Akbar Zlac

Babur Qs

QNo: 81 \yho among the following is the founder of the E-commerce company Flipkart? = GEIR@6 Flélg @ o-0d e Q{]‘;}I@Qf geaER?

Vijay Linghwal [=into ala el
e e
Rishi Gour o 66l

Sanjiv Saddy GG AE

Q.No:82 5018 Asian Games was held in: 2018 9226 69 6260169 BGEE 6TIRERI?

Indonesia el i b
-
South Korea QRE GRATEN

China o

Q.No: 83 | siang Hydroelectric Project is situated in which of the following states? Qelek FREQYE U DoRge 606 CIRIEH BTEs?

Tripura ggea

Manipur Figlge



Assam Zllict

e I

Q.No: 84 Article 14 of the Constitution of India deals with: RUEHE IRAGE ISl 14 696 FEL 9596 756"

Elections ainflalal

Uniform Civil Code Aele AGe A°T0!
-
Emergency SQEIAG AFEE

Q.No: 85 which of the following is the last Five Year Plan of India? DIRGE CKIG 626F ARG 690 YEQER 6AIRAI BT

12! Five Year Plan gled aseide calas!
- EmEmmew

11 Five Year Plan qQIRE QST ARG

14% five year plan R 95ITQ cAIRGI

Q.No: 86 "wildlife Week' is observed annually in the Month of: QRIRg 999" ghed 606 IF60 AIRG QAIAk?

October Z6QRa

April 40w
N

March A

Q.No: 87 | Big Bang theory explains which of the following? Go Quist 919 GYRge kg 6067 edrl @ea?

Origin of Industrial Revolution fig TEQ0 AR
e e

Laws of Investment fead Biae

Origin of Red Star sk latagelala]

QNo: 88 Who is the current Chairman of National Human Rights Commission, India (as QIGEE! G161 HEQ ERi@IG St QEiFIQ BdE B (‘u?l@?_‘.llm

of Jan 2024)? 2024 98107

Arun Kumar Mishra gl Qelic £l

Nasim Zaidi QI PRt
- - I

R.K Mathur Al 6@ Flglal

Q.No: 89 Which of the following state has the largest forest cover in India? @g@a@ cleig) 608 CIRYGE Flaaa LGOIg ERie Suim st o]

Kerala A

Assam talli ]|
T

Madhya Pradesh FlrRIgegd

Q.No: 90 Who among the following wrote 'Anandamath? QERGE kg T BIRRL0 sngdem”

Bibhutibhushan Bandopadhyay GEERAE QERITRIE

Sarat Chandra Chattopadhyay SleE Oy BT



Bankim Chandra Chattopadhyay QEF OF QeI

Q:No:971 who was the first Prime Minister of India? RRED GaIe Qulienat T4 26m 7

Dr. Rajendra Prasad 26 QleEy J9al9
e

Mrs. Indira Gandhi S[teiet Lol Gle

Mahatma Gandhi Clalell SlE

QNO:92 \yhat is the full form of SARS? 292 (SARS) g6l 9 @412

Severe Acute Respiratory Syndrome QAR 519 YAl degie

Severe Acute Respiratory Symptom Qe 019 495 nad
- -+
Separate Acute Respiratory Syndrome geIe 619 919G 2691

QNo:93 Who among the following used to give the final approval to the five year plans mﬁ!@‘ g &4 Sl A5arde SdiEhlg §vie

of India? BIQEAIRE 6TR8ER?
G e e e
Prime Minister of India Wit delleest
Ministry of Finance 2 fnden
National Development Council RS PREe ATIQ

Q.No: 94 | In which year the Insurance Regulatory and Development Authority(IRDA) was = A -
established? QN DD 9Q° TR dii@adl (IRDA) 606! gdea Jedl 6Ll ml”

1988 1988

1999 1999
1935 1935

Q.No: 95  In which country is the Headquarters of the International Labour Organization

(1LO) located? 2BGIGNE g6 2607 (ILO)Q FeiIPR 609 62960 2980 ?
USA BlSCIE
France gﬂ@

India il

QNo:96 Which among the following planets in the solar system is farthest from the 6dlla ¢1a@6a @ﬂﬁ‘ae @951@@ tlelgy =ty %ﬁqOIQ Ag0lgl Qa6

Sun? El@gg?
Pluto 3 (!
Neptune [
Jupiter @Q@@
Q.No: 97 ' which is known as the coal-capital of India? RHE CRRA-AIF QIR CREE FElIGEI?
Asansol e LIm

Dhanbad Rl



Raniganj GHSHGH

QNo:98 1 Governor of the state is appointed by: ST QDY DLl @|Q‘| @@'@ g&l@
- I
Judge QoleEs

People BRI

Vice President Uceds

Q.No: 99 primary reason for Lunar Eclipse is: Qegeda giafle QIad 6Ll

The sun comes between earth and moon 9y gejatve° 9g atsa 2gd

Moon comes between earth and sun gaet 8 9y a%6a 92 22

Solar radiations emitted by sun %@m’ dlal G 6dla @Fad

QNo: 100 Which of the following Finance Minister has presented maximum number of @‘?ﬁlﬂ@ g 56 EIPJ% lGEEG! Q]@IE;EP Aol Q@EEY

budgets in India? eUaED ohea?
e
C.D. Deshmukh Q5 658
Morarji Desai SLIGHGET 65€lIw
P. Chidambaram o Reiallelnte]

Section - V (Computer Knowledge)

Q.No: 101

"http://www. google.com/services/index.htm'From the above link, What is “http://www.google.com/services/index.htm”
‘google.com’? Pa6RIB AFQ 'google.com’ @812
Protocol 6QIEQIAN
-
Directory FERERIR
Domain name 601609 629
Q.No:102 QG 1@ 29 6516ANENTEH I8 FNINY 000 AFG LEAIFE T,
e i e s s P03 P e ST 56 a1 691a @341 0161 109K GG SN 1263,
QLI CRYR QRIAN |
Backbone MRS
Secondary SYEEIQl
- I
Single Qgral
Q.No: 103

Which of the following allows you to select more than one slide in a Gﬂ@%i@ QIQJQ S EHE]ESIQ_{ @ QAIDRIEa \QQ@ HQQ %[@@
presentation? [alglat G@QE% E@ﬂ@ @\q?

Alt + drag each slide Alt + JeGUa Qe GI6] @9



Shift + drag each slide Shift + 60 Qo €19 @

Ctrl + click each slide Ctrl + QERHR YD GR 63
QNo:T04 L ntemet is a system of DECACEERE 9@ Q4@9 |
Web pages 86Uy
Software bundles AFCEQ eim
Websites Seipafinis
- << ==
QNo:105 The first computer mouse was developed by: gaﬂ @f}jﬁ{@@ ﬂl@‘zl\ Q|@t@[@] @@@@ 6@%‘&@':
William English R QenE
- ---
Daniel Cougher IR TR
ouglas Engelbart QORI IEFTRIE
ANO:108 1116 basic component of Second generation Computers was: F910. 052 K¢IeaQ 641R9 QAL g
Vacuun tubes QUGHI§4q
=3
Programming Knowledge 6QIgIF REnE
Transistors fIeEad
ANO07 o is the father of internet in the world? gBaca aeasrea Sol &4 2
Ray Tomlinson 66 6INRTAR
Markoni AERE
Vint Cerf @9 6ad
Q.No: 108 | \ypat is the maximum length a text field can be? IR 6996 Tq AR 6T6Y 6R60 6TINACA?
255 characters 255 Q4
mawen
120 characters 120 @4
265 characters 265 Q4
@No:103 Which of the following displays the buttons for changing text style, ﬁ'ﬂ@%!@ ﬂq@ G%ﬁ .GG‘%’G‘ an‘m AIMIBTES \(.FQ“ il G@Q@Q Qﬁ@l
alignment and size? AT 6R gode 96a7?

Formatting toolbar ‘{Tﬁ 1Ge gﬁ@ta



Status bar AlG' QU

Drawing toolbar 2n° TmG

ANOTT0 \hich of the following malicious program do not replicate automatically?  GFIGES QES 6QIGIA ANQ 6RUE 9GIE VILER JRAIGE T QIF2
Virus @Gt

Worm Ko
-

Zombie Sl

QNo: T\t produces useful information out of data? QITIQ RACAIT GORI @'6 VYR F6R?

Scanner QIR

Programming egIgIere

Processing cQIeQad”
— E=

NI | ww standls for World Wide Web, What doss computer jargon WWWW stand | SRIPRES, @ 218l 6208 I GING 641 | A4I6G 89

for? 0R090504, 6 %8 482

World Wide Work Worm QNG BN GI6 68¢

World Wide Wildlife Worm GING G198 GNYMINT Gd

World Wide Worm Web @R GRe 6d 669

QNot 113 corTRAN is: TOIQ 620F:

Foreign Translation F6aa 8gRIQ

File Translation Tinlt EgUQ

Formula Translation 4g AQ1Q
e Emm
QNo: 114 \yj5 is the inventor of ABC computer? ABC Q{i9'90 Liew Fa?

Charles Babbage and Clifford E. Berry QI RIQE 19° PENE @ 69

Strafed Crip and Clifford E. Berry ATe §9 I9° YOS @ 691

John Vincent Atanasoff and Clifford E. Berry G5 G699 ULIRIAT 1Q° RETIE @ 61

Q.No: 115 Which of the following are valid Minimum and Maximum zoom

cizes In MS Office? FERGS UQ 6R9F 6T AL BATACR ARRE IL° AR GA ARIQ 26T ?
10, 100 10, 100




10, 500 10, 500

20, 250 20, 250
Q.No: 116 LAN (MaQ) @aeRielg @¢iee egIgirIe® @igl
allows LAN users to share computer programs and data. = spva
2RI @iy UGS G|

Print server a@ Q@{Q
I I
File server Tl Q@Q

Program server SYIGf] Q@Q

Q.No: 117 N . 2

The default view in Excelis ______. Nlegme6 G, Wi eS|

Work view @fé o8
-

Roman view St gt

Auto view 2Ieg '@"F

Q.No: 118 ) S -

What is the full form of USB? USB @ qgﬁ! el @l

Unidentified Serial Bus EQ&I@G@@@ l@@ {2}@\{]@ @QJ.

Unified System Board %ﬁgﬂ \'] g\‘ @ag\ S@ | @

Universal Serial Bus gaeda AaIm 99

QNo 119 \hich one of the following is not the function of operating system? @ﬂﬁ@g@ aag 6096 20se6e dana QIdy @G'Qw?
Resource Management G619 CHICRRENS

File Management Tigm HIEREeAS

Networking GG%[@”

Q.No: 120 E}fl\tee:aximum size of an IPv4 datagram (including header) is 9% IPv4 QISI9ING Q[@th{@ oI (6@@9 %ﬂ@)- QARG BI;SG‘E
56535 56535

65535 65535

65553 65553

QNo:121 PELRTER B6EE FHICRRENS Gan (Gvaaa) @'d

What role does a Content Management System (CMS) play on the intranet?

@fal gza @de?
Control hardware resources SEBAUR ﬁ@@l[sd@l qaad @olg

Secure external websites %@!ﬁ@ ﬁ%ﬁlﬁl ey



Facilitate collaboration and Qacaie ~1a° @ﬁﬂ@% q@(& e G’Q@

content creation

QNo: 122 \yicR stands for - Jeenedzia (MICR) @ &1l 6898 :

Magnetic Ink Cases Recognition ICTER AT 6P6AY 6ARAFAR

Magnetic Ink Character Reader QHIEATR B AR BER

Magnetic Ink Code Reader AYIEITR D 691G BOR

aNo123 is the weaknesses in a system that gives threats the opportunity to =~ ———— Gﬂ@ﬁ @ 4RI @QG[ Qi QGQ?L Qﬁé ae %mé“
compromise assets. QOQIG Q5AIT RN |

vulnerability QUGS

=

spoof 0ERR

threat e

QNo: 124 112t does an email client's "Inbox” serve as? G648 Q5AN QLT "RERTT Q'E NFEA Y FER?

Compose new emails QU0 WECIN FEHIR FAG

Store sent emails 8RIQ JOIdIRNERQ| WECTm

Recelve and store incoming emails 2R REANGES AAQ Ue° 6]IQ @FQ!

QNO:T25 \yhat does computer security terminology "phishing” mean? @460 dues adwial "Fa e 2d @'9?

Manipulative attempts to obtain sensitive information LeLrdin 4o 19N faR ae QIS@a] geid

Encrypting computer data QTR DITI 6T @8

Searching for computer hardware by fishing T 10 YUSR TCCHAID AR F0G

Section - VI (General Science)

QNO:T26 \yhy are the walls of arteries thick and elastic? AEIS10 G 6elIC! ¥e° anidq AIFe?
To facilitate easy exchange of materials Aagie dee Fa0ag 9o abe ain
To withstand high pressure of blood from the heart 9Ed9g 02Q €1g 6 9% 9Bl

To avoid blood clots 99 GAITQ 28l JIag Aila



Q.No: 127 6LIEBER6R 9 g RESIEOT YR 1AQ 9RC QEFH 960 FU6EER6R

What is the overall reaction when a metal carbonate reacts with an acid?

AEe gETe @47

Metal carbonate + Acid = Salt + Water AIEE QESIEEE + 937 — a8+ 218

Metal carbonate + Acid - Salt + Oxygen + Water el Ql€@|€%+ G2 — gl + BERIE + /8

Metal carbonate + Acid > Salt + Carbon dioxide + Water HIBe QI6GI6RE + 93 — Rdl + QG0 FIRAGIRE + 89

QN2 128 | \ypich nerves are part of the peripheral nervous system? 6% i [N3[alalq ail=] qig delieie 2°6 2ee?
R

Chest alE

Spinal Cord 6e1ea

Brain 5 el)

QN0 129 A sample of arthropods will exhibit aBae9 9@ Agn 99de 629

bilateral symmetry qaid goaiey
e e~
radial symmetry CIFEm abakey

asymmetry Falla (e

T e e P s host ey 0 €liY 9912 971960 BEIC 92R41R 2YRISAIRE I 9EIQ 2Ye JAISR! QIFE"
They are not resistance to environment change 6AFIER UBEEd UReERg absall @03 IF

They don't reproduce GLCIER UERR Q0 GIF

Heat tolerance provides a survival advantage Feld 4L041R61 U9 @8It 9kl gele @68l

Q.No: 131 | Why is it importance to conduct environmental impact assessments in QIQ@Q Qae adoooEn agsed 918 ZIeee ohgl aFe w@-;

Natural Resources Management?

To expedite the resource exploitation process L)@ Gallds g@ﬂla FRIRe afe|

To identify ways to maximize profits from resources ki Q]‘éld‘;? file RERIG @UIS TES GFa

To increase resource extraction rates Q5e RERIET QWG ﬂg@' Q|

Q.No: 132 250
As per the five kingdom system of biological classification,a biologist would s adieada alse oI el dpeliel Sed FIRQRIA
classify 'Euglenoids' under . PHGEa '%Gqsglﬂgla Gﬂéﬁ'@@ 9@6@ |

Plantae gl

Fungi ‘Q\?

Protista cgzal

Q.No: 133 Which one of the following shows the correct relationship in terms of Se1S g o e P S S
reactivity? Qeimale FlRIG et JoTtl Q‘!:'Q-@ 40w At @elld?

Al=5n=Zn Al=85n=Z2Zn

Zn>Sn> Al Zn>5S5n> Al

Al >Fn>5n Al > Zn > 5n



Sn>Al =Zn Sn=Al>Zn

Q.No: 134 ' Inthe digestive tract, where does the majority of nutritional absorption take (o] [mle @ELIGQ, aq@loa q@m CIeCEIS] 69@3’[}'6@ g\q’)

place?

Esophagus iyl

Large Intestine %‘@Q dylz
I

Small Intestine sald gyl

ANOT35\hat is the formula used to calculate electrical power? G@Q‘-@Q &3 G691 R0 AR 6% 9e QUeee 9497
Power = Current + Voltage 8 = Qﬁ@ + ewlena

Power = Current x Voltage dla = Qﬁ@ X EQllEmE

Power = Voltage + Current Sla = ewlema + ﬂﬂ@

Q.No: 136 | Geothermal Energyisa_______ source of energy. QO 68 699E a8 1e @ |
Non-Renewable [ B At N VAL

Kinetic QEe

Chemical ali=]Istals

QNO: 137 ¢ bbitis a primary consumer in a cOgell e glafie 296aial 26e' |
Forest ecosystem einialy [ATNa)

Grassland ecosystem EIIQ]@Q At

Marine ecosystem Agge afieed

QNO138 \hich of the following is a male hormone? RGO FRIQ 6296 19 Jod TR6AIR TI6E?
Estrogen WERIETEY

Androgen EBIeTY

Progesterone sgIeREEY

Q.No: 139

cgeens a2 G7lIe 98 @aeisa geagd afiel ges @32 |
& gRRIeR 67EERER €15 @Idy @'€?

Platelets play a crucial role in forming a blood clot. What is the main function
of platelets in this process?

They carry oxygen to the injured area to promote healing. gt § o [lalinataaia] Alg 69FIEE PIRE ity EeEle Quh QAF |

They directly seal the damaged blood vessel by forming a physical barrier. SACIEn ulded dInEie g@’i‘ﬁﬁ {‘l@ =8 @@ﬂg ‘5@@@"@ qﬁ (=i dia]

6AClIER 60IREE 99 QAR 9G4 @63 Q19 TRGERIERNY TIRGEES
AR P66, 99 FIR 8 KIS |

699lI6E 196 IQLRe aQld aIFeE Ael AIe 9Rg BRIR 6gCERE
BIGEEe el |

They release chemicals that attract more platelets to the site of injury.



Q:No: 140 what is the name of the metal that has the lowest melting point? fei=iala Rl Qg A9 AGE QI @€

Carbon el
- R
Mercury dige

Oxygen ARG

QNo= 14T \which enzyme is in charge for the digestion of proteins in the stomach? [y oy E@I@Q LG Tl 699 Jaelme] Qldl?

Lipase atNa ]

Amylase 2If6Re

Pepsin caadq

T e

QNo:142 64 do Chlorofluorocarbons impact the earths atmosphere? SQEREEICARITE €810 QIA8eg 208 JRIFe @6a?

Reduces rainfall adl GAdN

Increases fall of sun rays on earth ge6e 9y Bage 966 9F diaelia

Causes ozone depletion BewlE Fd cu9l6 Rt calzal

Q.No:143 | actic Acid is present in - Qe vae 9gee fM -

Curd @@
- R
Tea el

Orange @il

Q.No: 144 Among the options given below, what is one disadvantage of @ﬂ@@! ﬁ'ElEQF‘BE’JQF %‘)%Sl@@ ﬂz?,lgi‘ I @"”‘r-‘l\ ﬁ‘ﬁlﬂ'@?@@[@ GGII@‘(] aq@ﬂl @&

building large dams ?

They can disrupt local ecosystems. edellen AIFIE afeedg SIS @RI

They are not durable enough EUAIER Telid et ﬁ@ué

They are too expensive to maintain. G@Ra QESIETRS KG9 996 F1LE 216C |

Q.No: 145 | What is Melting? CoRe @47

A phase transition from solid to liquid @00 60@ g 9= adug afese

A phase transition from liquid to solid eialeind=lgiag=gyl=] adue afeee

A phase transition from solid to gas 96@@ iy 9@ gdyg ofees

Q.No: 146 | \what is the approximate speed of light in a vacuum? Gl lalininaialinalisal BIgeIEe Q6 69607

3x108 m/s 3x10% m/s
I -

3x10° km/s 3%10° km/s

3x10% m/s 3x10° m/s



Q.No: 147 The induced current in the coil will be - —
@R Q @?‘]G?‘EE}L CHLT M) BITEL HINIE0s WRItEn T Imee! dead 64Ie (ST

when the coil is moved
perpendicular to the magnetic field.

stopped sy
highest el
same dels

I -
QNo:148 g ynit of electric charge is called ERQQ0IFR ER gReY gk

- mm

Tesla el

Diaptre Eliele)

Coulomb SRlmE]

Q.No:149 92 9199 98 G006 BaE AAFIRE I8 Q6 FRTINGEEE ARl

How does the existence of a whip-like structure affect the process of cell
division in unicellular organisms like Leishmania? Salan g@ﬂ@@ﬂ@ g@l,:,@ (]

<4 @R iRl
It determines the plane of binary fission 19 FIRRIc GRIFHE 90 G808 K60

It inhibits cell division gl 618 QUIREG UE66k @GiEl

It leads to budding

Zlg2lg ARicEe: Soid ativie PeS

Q.No: 150 ' Non-metals are generally poor conductors of

Electricity GgF
Shock e
Blekl

Heat



